
Assembly Instructions 

The open rack bottom 
fixed parts & plate

The wheels are first 
installed on the 

base and fixed with 
M6*12 large flat 

heads

3
M6*12 large flat 

head
16

2 2.5"castor 4

1 pedestal 2

List Part name Quantity

Open rack frame and base 
assembly

Secure the frame to 
the base using M6*12 

flat head bolts

3
M6*12 large flat 

head
12

2 frame 2

1 chassis part 2

List Part name Quantity

The open rack whole 
installation drawing

Fix the column 
fixing plate to the 
frame and base using 

M6*12 large flat 
heads and flange 

nuts

3
M6*12 large flat 

head
8

2
bottom fixed 

plate
2

1 Frame assembly 1

List Part name Quantity

P/N: QT-4P-FDR-WC-22U

Free Standing 22U 4 Post Open Frame Network Rack with Caster Wheels 
and Standard Legs - 19 Inch Wide - 10-32 Tapped and M6 Cage Nut Rails




